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                                    SECTION - A                                           (2 x 13 = 26) 

Answer any two questions 
 

Q1) Explain in detail about paleolithic age. 

 ´ëÍÄñý*Í¤MŠü Ä¶ý¬VæüÐ@þ¬ @̄þ$ Væü*Ça ÑÐ@þÆæÿÐ@þ¬V> ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q2) Describe Babylonian numerical system. 

 »ôý¼ÌZ°Ä¶ý$¯Œþ ÐéçÜ$Ë çÜ…RêÅ Ñ«§é @̄þÐ@þ¬ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 

Q3) Write the importance of vitamins. 

 ÑrÑ$ @̄þÏ {´ëÐ@þ¬QÅ™èþ @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q4) Give an account on the invention of wheel. 

 ^èþ“MæüÐ@þ¬ Äñý¬MæüP BÑçÙPÆæÿ×ý Oò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 
 

Q5) Explain the problem with conventional energy source with suitable example. 

 Ýë…{ç³§éÄ¶ý$ Ô¶ýMìü¢ Ð@þ @̄þÆæÿ$Ë çÜÐ@þ$çÜÅË$ çÜOÆðÿ @̄þ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 

Q6) Give an account on artificial insemination. 

 Mæü–{†Ð@þ$ VæüÆæÿÂ§éÆæÿ×ý Væü*Ça ÑÐ@þÇ…^èþ$Ð@þ¬. 
     

                                        SECTION - B      

                                Answer any three questions                             (3 x 4 = 12) 

 

Q7) a) Gizah pyramid 
  Wf í³ÆæÿÑ$yŠþ 

 b) Radio 

  ÆóÿyìþÄñý* 

 c) Stoneage 

  Æ>†Ä¶ý¬VæüÐ@þ¬ 

 d) ICBM 
  I.íÜ.¼.GÐŒþ$ 

 e) Hybridisation 

  Ýë…MæüÆæÿÅÐ@þ¬ 

 f) Biogas 

  ºÄñý*V>Å‹Ü 



 g) Freedom 

  õÜÓ^èþe 

 h) Vaccination 

  sîýM>Ë$ 

 i) Planet 

  “VæüçßýÐ@þ¬ 
                                            SECTION - C      

                                       Answer all questions                          (3 × 4 = 12) 

Q8) Fill in the blanks : 
 a) Osteomalasia is due to ____ 

  KíÜtÄñý* Ð@þ$ÌôýíÜÄ¶ý* §óþ° Ð@þË @̄þ Ð@þ^èþ$a @̄þ$. 
 b) Full form of RADAR _____ 

  ÆóÿyéÆŠÿ° °ÆæÿÓ_… è̂þ$Ð@þ¬. 
 c) PVC is a _____ 

  í³.Ñ.íÜ. A @̄þV> ó̄þÑ$. 
 d) Function of cortisones. 

  M>ÇtÝù¯ŒþÞ Äñý¬MæüP Ñ«̈  
 

Q9) Choose the correct word. 
 a) Quinine is for  

  MìüÓŌ ðþ Œ̄þ §óþ° MöÆæÿMæü$ 
  i) Filaria ii)  Fever 

   º*ÆæÿMæüâ¶ý$å  fÓÆæÿÐ@þ¬ 
  iii) Malaria iv)  Cold and cough 

   Ð@þ$ÌôýÇÄ¶ý*  fË$º$ Ð@þ$ÇÄ¶ý¬ §æþVæü$Y 
 b) Diabetes can be treated with  

  §óþ° §éÓÆ> yæþÄñý*»ñýsìý‹ÜMæü$ _Mìü™èþÞ ^óþÄ¶ý$Ð@þ^èþ$a. 
  i) Bile juice  ii)  Amino acids 

   O»ñýÌŒý lÅ‹Ü  AOÐðþ$¯ø BÐ@þ*ÏË$ 
  iii) Vitamins iv)  Insulin 

   ÑrÑ$ @̄þ$Ï  C @̄þ$ÞÍ¯Œþ 
 c) Penicillin 

  ò³°ÞÍ Œ̄þ 
  i) Fertilizer ii)  Vitamin  
   GÆæÿ$Ð@þ#Ë$  ÑrÑ$ Œ̄þ 
  iii) Hormone iv)  Antibiotic 

   àÆøÃ Œ̄þ  ÆøVæü“MìüÑ$ ¯éÔ¶ýMæü… 
 d) Vitamin C  

  ÑrÑ$ Œ̄þ íÜ 
  i) Lemon  ii)  Banana  

   °Ð@þ$Ã  AÆæÿsìý 

   



  iii) Nuts iv)  Beans 

   W…fË$  ½¯@þ$Þ 
     

Q10) Match the following. 

 a) Paper  1) Conventional energy 

  M>W™èþÐ@þ¬  Ýë…{ç³§éÄ¶ý$ Ô¶ýMìü¢ 
 b) Anesthesia  2) Non conventional energy 

  Ð@þ$™èþ$¢Ð@þ$…§æþ$  Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 
 c) Oil  3) Communication 

  @̄þ* ð̄þ  ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 
 d) Water  4) Surgery 

  ±Ææÿ$  Ô¶ýçÜˆ _Mìü™èþÞ 
���� 
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BA DEGREE EXAMINATION, JUNE/JULY - 2019 

Third Year 

Mathematics - III : Rings and Linear Algebra (Part - II) 

Time : 3 Hours                                                                           Maximum Marks : 70 

                                SECTION - A                                                 (8 × 3 = 24) 

Answer all questions, Each question carries 3 marks. 

 
 

Q1) Show that every field is an integral domain. 

 {ç³†„óü{™èþÐ@þ¬ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ$° ^èþ*ç³#Ð@þ¬. 
 
 

Q2) Show that the intersection of two sub - rings of a ring R is a sub - ring of R.  

 Ð@þËÄ¶ý$… R Mìü Æðÿ…yæþ$ Eç³Ð@þËÄ¶ý*Ë bóþ§æþ @̄þÐ@þ¬ R Mìü Eç³Ð@þËÄ¶ý$Ð@þ$Væü$ @̄þ° è̂þ*ç³…yìþ.  
 

Q3) Let f  be a homomorphism from a ring R into a ring S then show that  

    
 R A @̄þ$ Ð@þËÄ¶ý$… @̄þ$…yìþ S A @̄þ$ Ð@þËÄ¶ý$Ð@þ¬¯@þMæü$ f JMæü çÜÐ@þ$Ææÿ*ç³™èþ AÆÿ¬ @̄þ  

    A° ^èþ*ç³…yìþ. 
Q4) Define Linearly independent and linearly   dependent set of vectors. 

 Ææÿ$k ÝëÓ™èþ…{™èþÅ çÜ¨Ô¶ýË$, Ææÿ$k ç³Æ>«§é @̄þ çÜ¨Ô¶ýË @̄þ$ °ÆæÿÓ_…ç³#Ð@þ¬. 

 

 

Q5) Define Linear Span. Prove that L(s) is a subspace of V(F). 

 Ææÿ$k Ñ™èþí³¢° °ÆæÿÓ_…_, çÜ¨Ô>…™èþÆ>â¶ý… V(F) Mæü$ L(s) JMæü E´ë…™èþÆ>â¶ý… A° è̂þ*ç³…yìþ. 

 

 

Q6) Define Range and Null space of Linear transformation T. 

 Ææÿ$k ç³ÇÐ@þÆæÿ¢̄ @þ… T Äñý¬MæüP ÐéÅí³¢, Ô¶ý*¯éÅ…™èþÆ>â¶ý… @̄þ$ °ÆæÿÓ_…^èþ…yìþ. 

 

Q7) Show that the matrix  is diagonalizable matrix. 

  ÑÐ@þÈYÄ¶ý$ Ð@þ*{†Mæü A° è̂þ*ç³…yìþ. 
 

Q8) Define Jordan curve. 

 gŸÆ>ª̄ Œþ Ð@þ“Mæü… @̄þ$ °ÆæÿÓ_…ç³#Ð@þ¬. 



                                      SECTION – B                                      (4 × 11½ = 46) 

Answer all questions, each question carries 11½ marks 

 

 

Q9) a) i) Show that a finite integral domain is a field. 

   ç³ÇÑ$™èþ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ¬, JMæü „óü{™èþÐ@þ$Væü$ @̄þ° è̂þ*ç³#Ð@þ¬. 

  ii) If I
1
 and I

2
 are ideals of a ring R then prove that  

is also an ideal of R. 

   I
1 
Ð@þ$ÇÄ¶ý¬ I

2 
Ë$ JMæü Ç…VŠü R Äñý¬MæüP B§æþÆ>ØË$ AÆÿ¬™óþ  

A ó̄þ¨ Mæü*yé R Äñý¬MæüP B§æþÆæÿØ… A° °Ææÿ*í³…^èþ$Ð@þ¬.  
OR 

 b) i) Show that a homomorphism f from a ring R into  a ring S is a 

monomorphism if and only if . 

   R A @̄þ$ Ð@þËÄ¶ý$Ð@þ¬ @̄þ$…yìþ S A @̄þ$ Ð@þËÄ¶ý$Ð@þ¬ @̄þMæü$ MæüË f A @̄þ$ çÜÐ@þ$Ææÿ*ç³™èþ A ó̄þÓMæü 

çÜÐ@þ$Ææÿ*ç³™èþ M>Ð@þsê°Mìü  BÐ@þÔ¶ýÅ ç³Æ>Åç³¢ °Ä¶ý$Ð@þ$Ð@þ¬  M>Ð@þr… A° 
°Ææÿ*í³…^èþ…yìþ. 

  ii) Show that if f is an epimorphism form a ring R onto a ring S then R/kerf S. 

   R A @̄þ$ Ð@þËÄ¶ý$Ð@þ¬ @̄þ$…yìþ S A @̄þ$ Ð@þËÄ¶ý$Ð@þ¬ @̄þMæü$ f JMæü ççÜ…“VæüççÜ¢  çÜÐ@þ$Ææÿ*ç³™èþ AÆÿ¬¯@þ^ø 

R/kerf S A° è̂þ*ç³…yìþ. 

 

 

Q10) a) Prove that the set of all ordered n - types over a field F is a vector space. 

  F „óü{™èþ… Oò³ n - A¨Ô¶ýË “MæüÐ@þ$çÜÑ$† çÜ¨ Ô>…™èþÆ>â¶ýÐ@þ¬ AÐ@þ#™èþ$…§æþ° è̂þ*ç³…yìþ. 

 

OR 

 
 b) If W be a subspace of finite dimentional vector space V(F), then prove that  

  . 

  ç³ÇÑ$™èþ ç³ÇÐ@þ*×ý çÜ¨Ô>…™èþÆ>âê°Mìü V(F) , E´ë…™èþÆ>â¶ýÐ@þ¬ AÆÿ¬™óþ   

    A° ^èþ*ç³…yìþ. 

 

Q11) a) i) Find A–1 if  . 

 

 

 



  ii) Find the characteristic equation of the    matrix   and 
verify that it is satisfied by A. 

   Oò³ Ð@þ*{†Mæü Äñý¬MæüP ÌêMæüÛ×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Mæü @̄þ$MøP…yìþ. D ÌêMæüÛ×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬          

A çÜ…™èþ–í³¢ ç³Ææÿ$çÜ$¢…§æþ° è̂þ*ç³…yìþ. 

 

 

OR 

 

 

 b) i) State and prove cayley - Hamilton theorem. 

   MóüÎ & òßýÑ$Ët̄ Œþ íÜ§éª…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³…^èþ…yìþ. 
 

  ii) Find the P(A) if  

 

 

Q12) a) i) State and prove Cauchy - Scwarz’s in equality. 

   MöíÙ & ÚëµÆŠÿj AçÜÐ@þ*¯@þ™èþ íÜ§éª…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 

 

 

  ii) If  is a basis of R3. 

 

   R3 @̄þMæü$   JMæü B«§éÆæÿÐ@þ¬ AÆÿ¬™óþ JMæü Ë…¿êÀË…º 

B«§éÆæÿÐ@þ¬ @̄þ$ °ÇÃ… è̂þ…yìþ. 
OR 

 b) i) State and Prove triangle inequality and also specify its geometric 

interpretation. 

   {†¿¶ý$f… AçÜÐ@þ* @̄þ™èþ Ð@þ$ÇÄ¶ý¬ §é° gêÅÑ$¡Ä¶ý$ ÑÐ@þÆæÿ×ý @̄þ$ Mæü*yé õ³ÆöP @̄þ…yìþ. 

 

 

 

  ii) Apply Gram - schmt process to obtain an ortho - normal basis of R3(R) 

from the basis {(1, 0, 1}, (1, 0, –1), (0, 3, 4)} 

   R3(R) A…™èþÆ>â¶ýÐ@þ¬ Äñý¬MæüP {(1, 0, 1}, (1, 0, –1),   (0, 3, 4)} B«§éÆ>Ë @̄þ$ “V>ÐŒþ$ & 
íÜPÑ…yìþsŒý Ë…`MæüÆæÿ×ý ç³§æþ®† §éÓÆ> Ë…¿êÀË…º B«§éÆæÿÐ@þ¬ Mæü @̄þ$Vö @̄þ$Ð@þ¬. 
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                       SECTION - A                                                              (8 x 3 = 24) 

Answer All questions, Each question carries equal marks 
 

Q1) Construct the forward difference table given that. 

 “Mìü…¨ ç³sìýtMæü @̄þ$ Eç³Äñý*W…_ ç³#ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

   

Q2) Evaluate  

   
 ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ. 
Q3) Evaluate  

   
 ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ. 
  
 

Q4) If ,   find the value of . 

 

 ,   AÆÿ¬™óþ  ÑË$Ð@þ @̄þ$ Mæü @̄þ$MøP…yìþ. 
 

 

Q5) Explain about Divided difference and write their   properties. 

 

 Ñ¿êVæü¿ôý§éË @̄þ$ Væü$Ç…_ Ð@þ$ÇÄ¶ý¬ Ðésìý «§æþÆ>ÃË @̄þ$ {ÐéÄ¶ý$…yìþ. 

 

 

 

 



Q6) Explain Simpsons  rd Rule. 

 

 íÜ…ç³Þ Œ̄þ  rd  °Ä¶ý$Ð@þ$Ð@þ¬ @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

 

Q7) Evaluate  by Trapezoidal rule. 

  ÑË$Ð@þ @̄þ$ {sñýí³gêÆÿ¬yæþÌŒý °Ä¶ý$Ð@þ$… §éÓÆ> Mæü @̄þ$MøP…yìþ. 
Q8) Interpolate the missing figures in the following table. 

 “Mìü…¨ ç³sìýtMæüÌZ° ÌZí³…_ @̄þ RêäË (A…MðüË) @̄þ$ A…™èþÆóÿÓÔ¶ý @̄þ… §éÓÆ> ç³NÇ… è̂þ…yìþ. 
  x  0 1 2 3 4 5 

  F(x)  0 - 8 15 - 35  

 

 

                              SECTION - B                                                  (4 x 11½ = 46) 

Answer all questions, each question carries equal marks 

Q9) a) i) Construct backward difference table from the data. Assuming third difference 

to be constant, find the Value of Sin 25°. 

   “Mìü…¨ §æþ™é¢…Ô¶ý… @̄þ$ Eç³Äñý*W…_, †ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$. ™èþÄ¶ý*Ææÿ$ ó̂þíÜ, A…§æþ$ÌZ 3 Ð@þ 

Ð@þÅ™éÅÝë°² íÜ®Æ>…Mæü… A @̄þ$Mø° Sin 25° ÑË$Ð@þ @̄þ$ Mæü @̄þ$MöP…yìþ. 
   sin 30° = 0.5000, sin 35° = 0.5736,   sin 40° = 0.6428, sin 45° = 0.7071 

  ii) Evaluate  

     
   ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ. 

 

OR 

 

 b) i) State and prove Newtons Backward       Interpolation formula. 

   @̄þ*År Œ̄þ †ÆøVæüÐ@þ$ @̄þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³…^èþ…yìþ. 
  ii) State and prove Lagrange’s Interpolation formula. 

   Ìñý“V>…gñý‹Ü A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
 

Q10) a) State and prove Gauss Forward Interpolation formula. 

  Vú‹Ü ç³#ÆøVæüÐ@þ$ @̄þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°², {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

 

OR 

 



 b) i) Use Stirling’s formula to find  given that 

 

   òÜtÇÏ…VŠü çÜ*{™é°² Eç³Äñý*W…_, ÑË$Ð@þ @̄þ$ “Mìü…¨ C_a @̄þ ÑË$Ð@þË @̄þ$ Eç³Äñý*W…_ Mæü @̄þ$MøP…yìþ. 

 
 

  ii) Apply Bessle’s formuly find a polynomial function by given data. 

   “Mìü…¨ §æþ™é¢…Ô¶ý… §éÓÆ> »ñýòÜÞÌŒýÞ çÜ*{™é°² Eç³Äñý*W…_ ´÷Í¯éÑ$Ä¶ý$ÌŒý {ç³Ðóþ$Ä¶ý*°² Mæü @̄þ$MøP…yìþ 

    

Q11) a) Derive Newton’s cotes quadrature formula then prove Simpson’s  rule and Simpson’s  

rule. 

  @̄þ*År Œ̄þÞ  MösŒýÞ  M>Ó{yóþ^èþÆŠÿ çÜ*{™é°² ÑÐ@þÇ…_, íÜ…ç³Þ Œ̄þÞ  Ð@þ$ÇÄ¶ý¬ íÜ…ç³Þ Œ̄þÞ   °Ä¶ý$Ð@þ*Ë° 
°Ææÿ*í³…^èþ…yìþ. 

OR 

 

 b) i) Solve  by Picard’s method upto the fourth 

approximation. Hence find the value of y(0.1) and y(0.2). 

 

    A ó̄þ çÜÒ$MæüÆæÿ×ýÐ@þ¬ @̄þMæü$ í³M>ÆŠÿz ç³§æþ®† §éÓÆ> ¯éË$VæüÐ@þ 
approximation Ð@þÆæÿMæü$ y(0.1)   Ð@þ$ÇÄ¶ý¬ y(0.2) ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ.     

  ii) Give that ,  Find  with  using Euler’s Modified 

method. 

 

   = 2,  ° C_a @̄þç³šyæþ$  ™ø BÆÿ¬ËÆŠÿ ç³§æþ®† §éÓÆ>  ° 
Mæü @̄þ$MøP…yìþ. 

 

Q12) a) i) Find a real root of the equation  using Newton Rhapson’s method. 

   @̄þ*År Œ̄þ & Æ>‹³çÜ Œ̄þÞ ç³§æþ®†° Eç³Äñý*W…_  çÜÒ$MæüÆæÿ×ý… Äñý¬MæüP JMæü ÐéçÜ¢Ð@þ Ð@þÊÌê°² 
Mæü @̄þ$MøP…yìþ. 

   

  



  ii) Find a real root of by iteration method. 

   ç³# @̄þÆæÿ$Mæü¢ ç³«§æþ®† §éÓÆ> @̄þMæü$ JMæü ÐéçÜ¢Ð@þ Ð@þÊÌê°² Mæü @̄þ$MøP…yìþ. 

OR 

 b) i) Using Gauss - Jordan method solve the system ;  . 

   V>‹Ü & gZÆ>z̄ Œþ ç³§æþª†° Eç³Äñý*W…_  

                                                      
 çÜÒ$MæüÆæÿ×êË @̄þ$ Ýë«̈ …^èþ…yìþ. 

  ii) Explain Gauss - Seidal method. 

   Vú‹Ü & íÜyæþÌŒý ç³§æþ®†° ÑÐ@þÇ…^èþ…yìþ. 

 

���� 
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                                  SECTION – A   (2 × 15 = 30) 

 

Answer any Two of the following questions 
 

Q1) Find out Arithmetic mean for the following data. 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ @̄þ$ Mæü @̄þ$Vö @̄þ…yìþ. 
 Marks less than : 10 20 30 40 50 60 70 80 

 Ð@þ*Ææÿ$PË$ (Mæü…sôý ™èþMæü$PÐ@þ) 
 Frequency : 3 14 31 56 78 88 96 100 

 ´û¯@þ] ç³# @̄þÅ… 
 
 

Q2) Compute mean deviation and co-efficient of mean   deviation from median. 

 Ð@þ$«§æþÅVæü™èþ… §éÓÆ> Ð@þ$«§æþÅÐ@þ$ Ñ^èþË¯é°² Ð@þ$ÇÄ¶ý¬ Ñ^èþÆæÿ×ý Væü$×ýM>°² ÌñýMìüP… è̂þ…yìþ. 
  X : 100-120  120-140  140-160  160-180  180-200 

  f : 4      6       8               10                5 
 

Q3) What is meant by scattered diagram? Give its merits and demerits. 

 ÐéÅç³ @̄þ ç³r… A @̄þV> ó̄þÑ$? §é° Äñý¬MæüP Væü$×ý§øÚëË @̄þ$ ^èþÇa…^èþ…yìþ. 
Q4) Explain the significance and limitations of Index      numbers. 

 çÜ* ç̀Ü…QÅË Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ¯@þ$ Ð@þ$ÇÄ¶ý¬ ç³ÇÑ$™èþ$Ë @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

 

               SECTION - B                                                        (3 × 8 = 24) 

Answer any Three of the following questions 

 
 

Q5) Find Regression equations of X on Y and Y on X. 

 X Oò³Y Y Ð@þ$ÇÄ¶ý¬ YYY Oò³ X  {ç³†VæüÐ@þ$ @̄þ çÜÑ*MæüÆæÿ×êË¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 
 X : 56 42 36 47 49 42 60 72 63 55 

 Y : 147 125 118 128 145 140 155 160 149 150 

 

Q6) Calculate mode for the following data : 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ ºçßý$â¶ýMæüÐ@þ¬ @̄þ$ ÌñýMìüP…^èþ…yìþ. 
 X : 0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40 
 f : 2 3 10 16 17 8 4 1 

 

 

 



Q7) Calculate Rank correlation co-efficient from the     following data. 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$…yìþ Møsìý çÜçßýçÜ…º…«§æþ Væü$×ýMæüÐ@þ¬¯@þ$ Væü×ý @̄þ ^óþÄ¶ý$…yìþ. 
 X : 65 50 35 55 60 25 45 80 85 

 Y : 45 35 55 40 70 30 40 65 80 

 

Q8) Compute Fisher’s ideal index number from the         following data : 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ íœçÙÆŠÿ B§æþÆæÿØ çÜ*` çÜ…QÅ @̄þ$ ÌñýMìüP…^èþ…yìþ. 
 Items Price Value 

 Ð@þçÜ$¢Ð@þ#Ë$ «§æþÆæÿ ÑË$Ð@þ  
  Base Year   Current year   Base year   Current year 
  B«§éÆæÿ çÜ…Ð@þ™èþÞÆæÿ… {ç³çÜ$¢™èþ çÜ…Ð@þ™èþÞÆæÿ… B«§éÆæÿ çÜ…Ð@þ™èþÞÆæÿ…   {ç³çÜ$¢™ èþ çÜ…Ð@þ™èþÞÆæÿ… 
 W 60  25 3000        6000 

 X 20  30 2500                5000 

 Y 50  40 2000                4000 

 Z 40  50 6000                3000 
 

Q9) Discuss the merits and demerits of various methods of collecting primary data. 

 {´ë£æþÑ$Mæü §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$ õÜMæüÇ… è̂þ$rMæü$ VæüË ÑÑ«§æþ ç³§æþ®™èþ$Ë {ç³Äñý*f¯éË @̄þ$ Ð@þ$ÇÄ¶ý¬ ÌZ´ëË @̄þ$ 
^èþÇa… è̂þ…yìþ. 

Q10) Discuss uses and importance of Graphs. 

 “V>‹œË$ Äñý¬MæüP {´ë«§é¯@þÅ™èþ @̄þ$ Ð@þ$ÇÄ¶ý¬ Eç³Äñý*V>Ë @̄þ$ è̂þÇa…^èþ…yìþ. 
                      

 

                                                     SECTION - C                                                      (4 × 4 = 16) 

Answer any four of the following questions 

Q11) Uses of statistics. 

 Ýë…QÅMæü Ô>çÜˆ… Äñý¬MæüP Eç³Äñý*V>Ë$ 
Q12) Essentials of a good average. 

 Ð@þ$…_ çÜVæür$ Äñý¬MæüP BÐ@þÔ¶ýÅM>Ë$ 
Q13) Merits of Harmonic Mean 

 çßýÆæÿÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Äñý¬MæüP Ìê¿êË$ 
Q14) Merits or uses of mean deviation 

 çÐ@þ$«§æþÅÐ@þ$ Ñ è̂þË @̄þ… Äñý¬MæüP Eç³Äñý*V>Ë$ 
Q15) Cyclical Variation 

 ^èþ“MîüÄ¶ý$ Ñ è̂þÆæÿ×êË$ 
Q16) Time Reversal test and Factor Reversal test. 

 M>Ë ç³ÇÐ@þÆæÿ¢̄ @þ ç³È„æü Ð@þ$ÇÄ¶ý¬ M>ÆæÿM>Ë ç³ÇÐ@þÆæÿ¢̄ @þ ç³È„æü 
Q17) Difference between correlation and regression. 

 çÜçßýçÜ…º…«§æþ… Ð@þ$ÇÄ¶ý¬ {ç³† VæüÐ@þ$ @̄þ… Ð@þ$«§æþÅ ™óþyéË$ 
Q18) Positive and Negative correlation. 

 «§æþ¯é™èþÃMæü Ð@þ$ÇÄ¶ý¬ º¬×ê™èþÃMæü çÜçßýçÜ…º…«§æþ… 



Total No. of Questions : 16] 

DAECO32 

B.A. DEGREE EXAMINATION, JUNE/JULY - 2019 

Third Year (Part - II) 

Economics - III(E) - Public Economics 

Time : 3 Hours                                                                             Maximum Marks : 70 

                                     SECTION - A                                            (2 x 8 = 16) 

Answer any two questions 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é @̄þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 
 

Q1) Write about the differences between public finance and private finance. 

 {ç³¿¶ý$™èþÓ Ñ™èþ¢Ð@þ¬ Ð@þ$ÇÄ¶ý¬ [Oò³Ðóþr$ Ñ™èþ¢Ð@þ¬ËMæü$ VæüË Ð@þÅ™éÅÝëË @̄þ$ Væü$Ç…_ {ÐéÄ¶ý¬Ð@þ¬. 
 

Q2) What are the merits and demerits of indirect taxes. 

 ç³Æø„æü ç³ @̄þ$²Ë çÜ$Væü$×êË$ Ð@þ$ÇÄ¶ý¬ §øÚëË @̄þ$ ™ðþË$µÐ@þ¬. 
 

Q3) Explain the characteristics of good tax system. 

 Ð@þ$…_ ç³ @̄þ$²Ë Ñ«§é¯@þ… Ë„æü×êË @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 
 

Q4) Write an essay on pricing policies of public enterprises. 

 {ç³¿¶ý$™èþÓ Ææÿ…Væü çÜ…çÜ¦Ë «§æþÆæÿË Ñ«§é¯éË Oò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 

                               

                                                       SECTION - B                                                  (3 x 14 = 42) 

Answer any three of the following questions 

D “Mìü…¨ Ðé°ÌZ Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 
 

Q5) Describe the principle of maximum social advantage. 

 VæüÇçÙx Ýë…íœ$Mæü {ç³Äñý*f @̄þ íÜ§é®…™é°² ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q6) What are causes for public debt in India? And explain the methods of debt redemption. 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ {ç³¿¶ý$™èþÓ º¬×ý… ò³Ææÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË @̄þ$ ™ðþÍµ º¬×ýÐðþ* è̂þ¯é ç³§æþª™èþ$Ë @̄þ$ 
ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q7) What are the causes for growth of public expenditure in India. 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ {ç³¿¶ý$™èþÓ Ð@þÅÄ¶ý$… ò³Ææÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË @̄þ$ ™ðþË$µÐ@þ¬. 
Q8) Describe the effects of taxes on production and        distribution. 

 E™èþµ†¢ Ð@þ$ÇÄ¶ý¬ ç³…í³×îýË Oò³ ç³ @̄þ$²Ë {ç³¿êÐéË @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
Q9) Critically examine the growith of public enterprises in India. 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ {ç³¿¶ý$™èþÓÆæÿ…Væü çÜ…çÜ¦Ë ò³Ææÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË @̄þ$ ÑÐ@þ$ÆæÿØ¯é™èþÃMæü…V> ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q10) Explain the centre and state financial relation in     India. 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ Móü…{§æþ Æ>Ú‰ëË Ñ™èþ¢ çÜ…º…«§éË @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 



 

                          SECTION - C                                                    (3 x 4 = 12) 

Answer any three of the following questions 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é @̄þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. 
Q11) Merits of direct Taxes 

 {ç³™èþÅ„æü ç³ @̄þ$²Ë çÜ$Væü$×êË$ 
 

Q12) Internal debt and external debt. 

 A…™èþÆæÿY™èþ º¬×ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ºíßýÆæÿY™èþ º¬×ýÐ@þ¬ 
 

Q13) Canons of Taxation 

 ç³ @̄þ$²Ë °Ä¶ý$Ð@þ*Ë$ 

     

Q14) Wegner’s Law of microsing state activities. 

 ÐóþVæü²ÆŠÿ {ç³†´ë¨…_ @̄þ {ç³¿¶ý$™èþÓ M>ÆæÿÅMæüÌê´ëË ÑçÜ¢Ææÿ×ý íÜ§é®…™èþÐ@þ¬ 

 

Q15) Propotional tax and progressive Tax. 

 A @̄þ$´ë™èþ ç³ @̄þ$² Ð@þ$ÇÄ¶ý¬ ç³#ÆøV>Ñ$ ç³ @̄þ$² 

 

Q16) Sources of Public Revenue. 

 {ç³¿¶ý$™èþÓ Æ>ºyìþ B«§éÆ>Ë$ 

 

���� 

 



Total No. of Questions : 16] 

DAECO33 

B.A. DEGREE EXAMINATION, JUNE/JULY - 2019 

Third Year 

Economics - IV - Rural Development 

Time : 3 Hours                                                                              Maximum Marks : 70 

                       SECTION - A                                                        (2 x 8 = 16) 

Answer any Two of the following questions 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é @̄þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 
 

Q1) What are the sources of rural credit in India? 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ “V>Ò$×ý ç³Ææÿç³† B«§éÆ>Ë @̄þ$ ™ðþË$µÐ@þ¬. 
 

Q2) Define rural indebtedness and explain the causes for rural indebtedness. 
 “V>Ò$×ý º¬×ý¿êÆ>°² °ÆæÿÓ_…_, “V>Ò$×ý º¬×ý¿êÆ>°Mìü VæüË M>Ææÿ×êË @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q3) Explain the problems of cottage and small scale          industries. 

 Mæü$sîýÆæÿç³Ç“Ô¶ýÐ@þ$Ë$ Ð@þ$ÇÄ¶ý¬ _ @̄þ² ™èþÆæÿà ç³Ç“Ô¶ýÐ@þ$Ë çÜÐ@þ$çÜÅË @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 

Q4) Write about the problems of Health, Nutrition and Medical care in rural areas. 

 “V>Ò$×ý {´ë…™éËÌZ BÆøVæüÅÐ@þ¬, ´ùçÙM>Ë$ Ð@þ$ÇÄ¶ý¬ OÐðþ§æþÅç³ÇÆæÿ„æü×ý Äñý¬MæüP çÜÐ@þ$çÜÅË @̄þ$ Væü$Ç…_ 
{ÐéÄ¶ý¬Ð@þ¬. 

 

                                  SECTION - B                                            (3 x 14 = 42) 

Answer any Three of the following questions 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q5) What are the causes for rural poverty? Explain the antipoverty programmes introduced 

by the              Government to solve the problem of poverty. 

 “V>Ò$×ý õ³§æþÇM>°Mìü M>Ææÿ×êË$ ™ðþÍµ , õ³§æþÇMæü… ççÜÐ@þ$çÜÅ °ÐéÆæÿ×ýMæü$ {ç³¿¶ý$™èþÓ… {ç³ÐóþÔ¶ýò³sìýt̄ @þ õ³§æþÇMæü… 
°Ææÿ*ÃË @̄þ ç³£æþM>Ë @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q6) Define rural Migration and explain the impact of     rural migration on rural 

development. 

 “V>Ò$×ý Ð@þËçÜ A @̄þV> °ÆæÿÓ_…_, “V>Ò$×êÀÐ@þ–¨® Oò³ “V>Ò$×ý Ð@þËçÜË {ç³¿êÐé°² ÑÐ@þÇ…^èþ$Ð@þ¬. 

     

Q7) What are the effects of population growth in rural   areas. Explain the approaches to 

population control. 

 “V>Ò$×ý {´ë…™èþ…ÌZ f¯é¿ê ò³Ææÿ$Væü$§æþË Ð@þËÏ çÜÐ@þ$çÜÅË @̄þ$ ™ðþÍµ, f¯é¿ê °Ä¶ý$…{™èþ×ý @̄þ$ ç³§æþ®™èþ$Ë @̄þ$ 
ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 
Q8) Explain about the various rural development programmes in India. 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ ÑÑ«§æþ “V>Ò$×ý AÀÐ@þ– ®̈ ç³£æþM>Ë @̄þ$ Væü$Ç…_ ÑÐ@þÇ… è̂þ$Ð@þ¬. 



 
Q9) What are the causes for Rural unemployment? Explain the measures required to solve 

the problem of unemployment. 

 “V>Ò$×ý °Ææÿ$§øÅV>°Mìü M>Ææÿ×êË @̄þ$ ™ðþÍµ, °Ææÿ$§øÅVæü çÜÐ@þ$çÜÅ °ÐéÆæÿ×ýMæü$ AÐ@þçÜÆæÿOÐðþ$ @̄þ è̂þÆæÿÅË @̄þ$ 
ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q10) Explain the problems of rural labour in different   sectors of India and suggest suitable 

measures to solve their problems. 

 ¿êÆæÿ™èþ §óþÔ¶ý…ÌZ° ÑÑ«§æþ Ææÿ…V>ËÌZ° “V>Ò$×ý “Ô>Ñ$Mæü$Ë çÜÐ@þ$çÜÅË @̄þ$ ™ðþÍµ ÐéÇ çÜÐ@þ$çÜÅË °ÐéÆæÿ×ýMæü$ 
çÜÇOÄñý$ @̄þ è̂þÆæÿÅË @̄þ$ çÜ*_…^èþ$Ð@þ¬. 

 

                             SECTION - C                                                    (3 × 4 = 12)           

Answer any Three of the following questions 

D “Mìü…¨ Ðé°ÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

 

Q11) Integrated Rural Development programme. 

 ççÜÒ$Mæü–™èþ “V>Ò$×êÀÐ@þ–¨® ç³£æþMæüÐ@þ¬ 

 

Q12) Family welfare programmes 

 Mæü$r$…º çÜ…„óüÐ@þ$ ç³£æþM>Ë$ 

 

Q13) District Industries centres 

 hÌêÏ ´ëÇ“Ô>Ñ$Mæü Móü…{§éË$ 

 
 

Q14) Regional Rural Banks 

 {´ë…¡Ä¶ý$ “V>Ò$×ý »êÅ…Mæü$Ë$ 

Q15) Scope of Rural Development 

 “V>Ò$×êÀÐ@þ– ®̈ ç³Ç«̈  
 

Q16) Agro based industries 

 Ð@þÅÐ@þÝëÄ¶ý$ A @̄þ$º…«§æþ ç³Ç“Ô¶ýÐ@þ$Ë$ 
 

���� 

 



Total No. of Questions : 9] 

DBSTT31 

BA DEGREE EXAMINATION, JUNE/JULY - 2019 

Third Year 

Statistics - III : Applied Statistics (Part - II) 

Time : 3 Hours  Maximum Marks : 70 

                                SECTION - A                                         (4 x 12½ = 50) 

Answer any four of the following questions 
 

Q1) a) In the used notation show that  

    

  Ð@þ*Ð@þÊË$ çÜ…Móü™éËÌZ  A° è̂þ*ç³#Ð@þ¬. 
 b) Explain principle steps in sample survey. 

  {ç³†Ææÿ*ç³ çÜÆóÿÓÌZ {ç³«§é @̄þOÐðþ$ @̄þ ¿êV>Ë @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
 

Q2) a) Explain the analysis of one - way classification. 

  HMæü & Ñ«§æþ Ð@þÈYMæüÆæÿ×ýç³# ÑçÜ¢ –† ÑÔóýÏçÙ×ý @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

 b) Explain the meaning of the definitons of the ANOVA. 

  ÑçÜ¢ –† ÑÔóýÏçÙ×ý Äñý¬MæüP AÆæÿ¦Ð@þ¬Ë °ÆæÿÓ^èþ¯éË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q3) a) Explain Latin square design. 

  LSD ° ÑÐ@þÇ…ç³#Ð@þ¬. 
 b) Explain the statistical analysis of RBD. 

  RBD Äñý¬MæüP Ýë…QÅMæü ÑÔóýÏçÙ×ý ÑÔ¶ý©MæüÇ… è̂þ$Ð@þ¬. 
 

Q4) a) What are the control charts? 

  °Ä¶ý$…{™èþ×ý ç³sêË$ A¯@þV> ó̄þÑ$? 

 b) Explain the construction procedure  and R charts? 

   Ð@þ$ÇÄ¶ý¬ R  ç³sêË °Æ>Ã×ý ç³§æþª†° ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q5) a) What are vital statistics. 

  iÐ@þ Ýë…QÅM>Ë @̄þV> HÐðþ* ™ðþË$ç³#Ð@þ¬. 
 b) Explain various mortality rates. 

  ÑÑ«§æþ Ð@þ$Ææÿ×ý ÆóÿrÏ̄ @þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q6) a) Explain components of complete life tables. 

  Ððþ¬™èþ¢… iÑ™èþ ç³sìýtMæüË Äñý¬MæüP ^èþË¯éË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 b) Explain functions of C.S.O. 

  C.S.O Äñý¬MæüP Ñ«§æþ$Ë @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 



Q7) a) What are seasonal indices? 

  º¬™èþ$ çÜ*_MæüË$ A¯@þV> ó̄þÑ$? 
 b) Explain Ratio to trend and Link relative     methods to determine seasonal indices. 

  º¬™èþ$ çÜ*_MæüË @̄þ$ °Ææÿ~Æÿ¬… è̂þ$rMæü$ Ratio to trend Ð@þ$ÇÄ¶ý¬ Í…Mæü$ Ýëõ³„>Ë ç³§æþª™èþ$Ë @̄þ$ 
ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q8) a) What is meant by index number? Write some of the uses of I.N. 

 b) Fishers index number in an ideal index number. Justify. 

 a) çÜ*_Mæü çÜ…QÅ A @̄þV> ó̄þÑ$? çÜ*_Mæü çÜ…QÅË Mö°² Eç³Äñý*V>Ë @̄þ$ {ÐéÄ¶ý$…yìþ. 
 b) íœçÙÆŠÿÞ çÜ*_Mæü çÜ…QÅ B§æþÆæÿØ çÜ*_Mæü çÜ…QÅ çÜÐ@þ$Ç®…^èþ$Ð@þ¬. 

 

                               SECTION – B                                                (10 × 2 = 20)           

Answer the following questions. 

 

Q9) a) What is sampling distribution. 

  Ô>…í³ÌŒý Ñ¿êf¯@þÐ@þ¬ A @̄þV> ó̄þÑ$? 

 b) Define SRSWR. 

  SRSWR A @̄þV> ó̄þÑ$? 

 c) Bring out the main differences between ANOVA of one - way and two - way 

classification data. 

  HMæüÑ«§æþ, ¨ÓÑ«§æþ Ð@þÈYMæüÆæÿ×ý §æþ™é¢…Ô¶ý ÑçÜ¢ –† ÑÔóýÏçÙ×ýËÌZ {ç³«§é @̄þ ¿ôý§æþÐ@þ¬Ë @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 d) Give the process of randomization in CRD. 

  CRD ÌZ Ä¶ý*§æþ–_eMîüMæüÆæÿ×ý Ñ«§é¯é°² CÐ@þ¬Ã. 
 e) What is meant by base shifting? 

  B«§éÆæÿ Ð@þ*Çµyìþ A @̄þV> ó̄þÑ$? 
 f) What are the uses of control charts. 

  °Ä¶ý$…{™èþ×ý ç³rÐ@þ¬Ë Äñý¬MæüP Eç³Äñý*V>Ë$ {ÐéÄ¶ý¬Ð@þ¬. 
 g) Crude death rate. 

  Ð@þ$…yìþ Ð@þ$Ææÿ×ý Æóÿr$ 
 h) Uses of N.S.S.O. 

  N.S.S.O. Eç³Äñý*V>Ë$ ™ðþË$µÐ@þ¬. 
 i) Moving averages. 

  ^èþÍ™èþ Ð@þ*«§æþÅÐ@þ*Ë 
 j) Define Vital statistics. 

  iÐ@þ Ýë…QÅMæüÐ@þ¬ @̄þ$ °ÆæÿÓ_…ç³#Ð@þ¬. 

 

���� 



Total No. of Questions : 9] 

DBSTT32 

B.A. DEGREE EXAMINATION, JUNE/JULY - 2019 

Third Year 

STATISTICS - IV  

Operations Research, Computer Programming and Numerical Analysis (Part - II) 

Time : 3 Hours                                                                             Maximum Marks : 70 

 

                                     SECTION – A                                           (4 × 12½ = 50) 
Answer any four of the following questions 

 

Q1) a) Define an O.R. models and give four examples? 
 b) Find an optimal solution to the following  transportation problem. 

     

 

Q2) a) Explain simplex method of solving L.P.P. 

 b) Solve the following L.P.P. Graphically. 
   Max Z = 5x

1 
+ 3x

2 

  
 S.T.C.  

           
   and     

                           
 

Q3) a) Define game theory and types of game. 

 

 b) Find minimax and maximin value for the following pay off matrix. 

       

Q4) a) What are the advantages of Network (PERT/CPM)? 

 

 b) Explain the significance of critical path and dummy activity in PERT/CPM. 

Q5) a) Using Newton’s formula for interpolation,      estimate the population for the year 

1905. 



     

 b) Derive Lagrange’s interpolation formula. 

 

Q6) a) Find  using Trapezoidal rule. 
 b) Derive Simpson’s  rule. 

 

Q7) a) Explain the Gauss Seidal method for solving    system of linear equations. 
 b) Find the real root of the following equation by using Newton - Raphson method. 

   
    
Q8) a) Explain about column charts in M.S. Excel. 

 
 b) Explain Data Entry in Excel. 

 

                                         SECTION - B                                          (10 × 2 = 20) 
Answer the following questions 

 

Q9) a) Define optimality test in L.P.P. 

 b) What is pivotal element? 

 c) Define O.R. 

 d) What is Zero assignment in Hungarian method? 

 e) Write the characteristics of game theory. 

 f) Advantages of Network. 

 g) Define Inverse Interpolation. 

 h) Define backward difference operator. 

 i) Write formula of Regula Falsi method. 

 j) Write Weddles rule in numerical integration. 


